
Gramáticas lineares à direita ⇒ 
autômatos finitos

G = (V, Σ, P, S)

M = (Q, Σ, δ, q0, F)

•Q = V ∪ {qF}
•Σ
•q0 = S
•F = {qF}



Gramáticas lineares à direita ⇒ 
autômatos finitos
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G M

P δ
X → aY δ (X, a) = Y

X → Y δ (X, ε) = Y

X → a δ (X, a) = qF

X → ε δ (X, ε) = qF



Autômatos finitos ⇒ 
gramáticas lineares à direita

M = (Q, Σ, δ, q0, F)

G = (V, Σ, P, S)

•V = Q
•Σ
•S = q0



Gramáticas lineares à direita ⇒ 
autômatos finitos

G = (V, Σ, P, S)

M = (Q, Σ, δ, q0, F)

M G

δ P

δ (qi, σ) = qj qi → σqj

δ (qi, ε) = qj qi → qj

∀ qk ∈ F qk → ε


